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	Řešení originálů z ŠU 12/2023
85 A.Fica
1.Je6

(2 body)
86 G.Kozjura + V.Kopyl
1.d8J 1…Jb6 2.Da2+ Jc4 3.Da5+ Jxa5 4.Sc6+ Jxc6 5.Jb4+ Jxb4X
1…Jc7 2.Sf7+ Je6 3.Sg8 Kxe5 4.Jf7+ Kd5 5.Jf4+ Jxf4X
(2x4,5 = 9 bodů)
87 K.Snížek
1.b5 Sxg4 2.Kb6 Sf3 3.Kc5 Jd7X

1.Ka8 Ja6 2.Sb8 Se8 3.Sa7 Sc6X

1.Se6 Jd7 2.Kc6 Sxg4 3.Kd5 Sf3X

(3x1,33 = 4 body)
88 V.Kotěšovec
(1.Lc8 Kd6 2.La8 Kc5 3.Ke5 Kb4 4.Kd6 Lb5 5.Kc7 Ka5 6.Kb8 Ka6 7.La7 Kb6X)

1.Lc2 Ld1 2.Lch7 Kf6 3.Kf3 Lg4 4.Kg2 Kg5 5.Lf1 Kh4 6.Kg1 Kh3 7.Lh2+ Kg3X

1.Lh6 Lf7 2.Lh8 Kd7 3.Kf5 La7 4.La8 Le7 5.Kg6 Ke8 6.Kh7 Kf8 7.Lg8 Kf7X
(2x1,5 = 3 body)
Tentokrát pěkně potrápili lioni. Gratulujeme osmi vítězům s plným počtem 18 bodů.
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